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A house is bought for
1 £120 000. The value
of the house appreciates
at a rate of 10% for the
first year and 8% in the _
second year. Calculate |G
the value of the

house after 2 years. w

2 Calculate 5 Solve the | 7 Calculate the
Multiply out the . following Evaluate.. “median and
1 3 following brackets Factorise... equation... 4 seml-ln;e:}ciuar‘hle
. . range of the
4—— D — and simplify.. ) oy —1 = x+3 3 Zg following data set...
2 5 | @r-na?-5c+4) 59°—7g—6 ~ 4 11,5,17,3,15,9
Write the following Change the Solve the followi Write the Calculate the
8 in it's Sih::('j?; 9 s:bjecwl‘ of the 11 solve esy:f:x\“g% 12 following in the 13 length of the
. . ormulatoe.. i minor arc...
1 3 form.. Slmphfy... equations... form...
X2X X2 4x+3y=5 y = (x+ a)® + b. 12m
— A television is ; Express this Express the Calculate the
14 ?;; 15 reduced by 25% . Find the 17 fr*cllac’rion in 18 follol\::ving with 19 missing volume...
Solve == | in I‘rhe Jgnuary equa“rlon of 'I'.he it's simplest form... 20 a rational
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giving your solutions | [0 p did it cost through y and simplify { - .
to 1 decimal place.. | pefore the sale started? (3,-1)and (5, 7). y2 — 8y — 33 V 5 if required...| volume =>  Volume = 1750 em®
Calculate 'rhe size Divide the Determine A function is The'volume of this
20 " | 21 oy | 220 watrins| 23 gt ) 24§t | 20 andTi e
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@ 5W3 w . r‘ighE Bﬁg data set... f(x) =X 5x h M calculate
33 mm stam - o T g o 33,46,54,68,79 | Find f(3). = = eight.
Calculate the E Iy i Find the
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H H e parabola wi
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A(10, 100)

for 0 < x < 360.

2x + 5y =10

equation...
y=x%+4x — 12




